

CITY OF HOLLYWOOD, FLORIDA

OFFICE OF PROCUREMENT AND CONTRACT COMPLIANCE

Quote Approval Form (Use for purchase(s) from \$25,000 - \$50,000)

| Date <u>08/05/2024</u> | | | | | | |
|---|---|--|--|--|--|--|
| Department/Office Police | Division/Area Quartermaster | | | | | |
| Requestor <u>Larry Bornstein</u> | Title Support Services Manager | | | | | |
| Phone <u>954-967-4631</u> | Email <u>lbornstein@hollywoodfl.org</u> | | | | | |
| | | | | | | |
| 1. Requested Vendor Galls, Inc | Vendor Number <u>05730</u> | | | | | |
| Address P.O. Box 505614 St. Louis, MO 63150-5614 | : | | | | | |
| Contact Person Chris Graham | Title Sales Manager | | | | | |
| Phone <u>800-876-4242</u> | Email graham-chris@galls.com | | | | | |
| Product/Service being requested (be specific.) Police Equipment and Supplies - duty belts, ammo pouches, belts, accessories Detailed description of the product/service's function and purpose. Provide sworn police officers with appropriate police-related equipment to perform their duties | | | | | | |
| Please list alternative products/services capable | of performing the required function. N/A | | | | | |
| 4. Copies of all written quotes are attached (minimum of a from the date in the header of this form. | 3 quotes are required) and valid for at least 30 days | | | | | |
| ⊠ Yes □ No | | | | | | |
| 5. Is the request to purchase from the lowest quote? \boxtimes Y | ∕es □ No | | | | | |
| If not, please provide detailed justification as to w | thy the lowest quote is not being requested. | | | | | |
| 6. Requesting approval of: ☐ Purchase Order ☐ Blanket Purchase Order (quote pricing must be | pe fixed for one year) | | | | | |

| 7. Total cost of the requested product/s | service? <u>\$43,686.00</u> | |
|---|---|---------------------|
| 8. Total estimated annual (fiscal year) | cost of requested product/service? \$43,686.00 | |
| Account Number(s) 001.20410 | 05.52100.552420.000000.000 | |
| 9. Is this product/service covered by a | warranty? ☐ Yes ⊠ No | |
| If yes, please attach a copy of | the warranty details. | |
| 10. Will grant funds be used to pay for | the requested product/service? ☐ Yes ☒ No | |
| If yes, please explain | | |
| Note: By signing and returning this portions (scope, terms, conditions, | G DEPARTMENT RECOMMENDATION form, you are verifying and acknowledging that y pricing, etc.) of the requested quote(s)/contract nce with the City's procurement requirements and knowledge. 8/6/2024 Date | ct(s) and recommend |
| leffrey Devlin | 8/6/2024 | |
| -9192300079AC450 Director's Signature | Date | |



Quote

Customer: (4228782) HOLLYWOOD POLICE DEPT

Date: 06/18/2024 Sales kep: JACK SVETICH

Sold To:

HOLLYWOOD POLICE DEPT 3250 HOLLYWOOD BLVD

HOLLYWOOD, FL 33021 STOREROOM SUPERVISOR EDDY GONZALES

Page 1 of 1 Quote Number: 26874384 Quote Expiration: 0//18/2024

Ship To:

HOLLYWOOD POLICE DEPT 3250 HOLLYWOOD BLVD HOLLYWOOD, FL 33021 EDUARDO GONZALEZ

| Line | Item | Description | Qty | Retail | Your Price | Ext Total |
|------|--------------------|--|-----|--------|---------------|-----------|
| 1 | NP238 BLK SM | GALLS MOLDED DUTY BELT | 100 | | 12.25 | 1,225.00 |
| 2 | NP031 MD | UNCLE MIKES NYLON INNER TROUSER BELT | 100 | | 11.25 | 1,125.00 |
| 3 | NP168 BLK | ACCUMOLD BELT KEEPERS | 100 | | 14.00 | 1,400.00 |
| 4 | NP164 BLK 02 | ACCUMOLD DOUBLE MAG | 100 | | 38.27 | 3,827.00 |
| 5 | NP166 BLK | ACCUMOLD SINGLE HANDCUFF CASE | 100 | | 27.50 | 2,750.00 |
| 6 | RS001 | PEERLESS MODEL 700C CHAIN HANDCUFFS | 100 | | 32.59 | 3,259.00 |
| 7 | NP580 | ACCUMOLD EXPANDABLE BATON HOLDER 21IN | 100 | | 19.75 | 1,975.00 |
| 8 | NP169 | ACCUMOLD MKIII MACE CASE - HIDDEN SNAP CASE | 100 | | 21.75 | 2,175.00 |
| | BA175 BLK 21 | GALLS SENTRY BATON | 100 | | 63.25 | 6,325.00 |
| 10 | NP665 BK SPRH 8325 | SAFARILAND 7TS 7360 DUTY HOLSTER | 100 | | 137.00 | 13,700.00 |
| 11 | NP238 BLK MD | GALLS MOLDED DUTY BELT | 100 | | 12.25 | 1,225.00 |
| | NP238 BLK LG | GALLS MOLDED DUTY BELT | 100 | | 12.25 | 1,225.00 |
| 13 | NP238 BLK XL | GALLS MOLDED DUTY BELT | 100 | | 12.25 | 1,225.00 |
| | NP031 LG | UNCLE MIKES NYLON INNER TROUSER BELT | 100 | | 11.25 | 1,125.00 |
| 15 | NP031 XL | UNCLE MIKES NYLON INNER TROUSER BELT | 100 | | 11.25 | 1,125.00 |
| | | | | | | |

Quote is valid for 30 days

Galls is required to collect sales tax on shipments to certain states. Sales tax will be added where applicable. For tax exempt customers, state laws require us to have signed tax exemption or resale certificates on file at our office. If you are tax exempt, please email or fax this information, (including your Galls account number) to Tax@galls.com or fax 859-268-5946.

Export Restrictions - This may contain commodities restricted in the United States International Trade Regulations.

1340 Russell Cave Rd Lexington, KY 40505

Tel: 800-876-4242 Fax:877-914-2557

SUBTOTAL:

SHIPPING:

TAX....:

43,686.00 TOTAL...:

43,686.00



| Quote | QTE0163518 |
|-------|------------|
| Date | 6/18/2024 |
| Page: | 1 |

GT Distributors - Austin 1124 New Meister Ln., Ste 100 Pflugerville TX 78660 (512) 451-8298 Ext. 0000

Bill To:

Hollywood Police Department (FL)

Attn: Accounts Payable 2600 Hollywood Blvd. RM# 303

Hollywood FL 33020

Ship To:

Hollywood Police Department (FL) 3250 Hollywood Blvd Hollywood FL 33021

| | | Customer | | Shipping Method | Payme | ent Terms | Req Ship Dat | |
|------------|-----------|-----------|---|---------------------|--------|-----------|--------------|-------------|
| DG 06/18/2 | | 010097 | MH | | NET 15 | | 0/0/0000 | 2,666,774 |
| Quantity | Item Num | ber | Description | | | UOM | Unit Price | Ext. Price |
| | BI-26041* | | Bianchi 7203 Nylon Belt, SM | 1 28-34" | | EA | \$52.50 | \$5,250.00 |
| 100 | BI-26042* | | Bianchi 7203 Nylon Duty Be | lt sz34-40 | | EA | \$52.50 | \$5,250.00 |
| 100 | BI-26043* | | Bianchi 7203 Nylon Duty Be | lt sz 40-46;L | | EA | \$52.50 | \$5,250.00 |
| 100 | BI-26044* | | Bianchi Nylon Duty Belt;XL | 46-52" | | EA | \$52.50 | \$5,250.00 |
| 100 | UM-8807-1 | * | Uncle Mike'S Belt Deluxe In | ner | | EA | \$10.63 | \$1,063.00 |
| 100 | UM-8808-1 | * | Uncle Mike'S Belt Deluxe In | ner Size | | EA | \$10.63 | \$1,063.00 |
| 100 | BI-15635* | | Bianchi 7406 Ranger Belt k | Geeper 4 Pack | | EA | \$15.56 | \$1,556.00 |
| 100 | BI-18473* | | Bianchi-Double Mag Pouch- | | EA | \$33.56 | \$3,356.00 | |
| 100 | BI-18190* | | Bianchi 7300S Accumold Hi | | EA | \$27.94 | \$2,794.00 | |
| 100 | PE-4710* | | Peerless-Model 700-Standa | rd Nickel Handcuff | | PR | \$26.50 | \$2,650.00 |
| 100 | BI-24016* | | Bianchi 7312 Expandable Ba | aton Holder 16"-21" | | EA | \$20.81 | \$2,081.00 |
| 100 | BI-18205* | | Bianchi-7307S MK3 Holder | w/Snap | | EA | \$23.44 | \$2,344.00 |
| 100 | SAF-7360- | 8325-411* | Safariland 7TS 7360 Holster | w/Light G17/22 PIE | | EA | \$144.75 | \$14,475.00 |
| 100 | MLP-DET2 | 1FT* | Friction Lock 21" Foam Grip | 1370124 | | Each | \$118.89 | \$11,889.00 |
| 1 | NOTES* | | Notes: | | | EA | \$0.00 | \$0.00 |
| | | | Bianchi, Safariland, Monadnock all per FLSC 46000000-21-STC | | | | | |

QUOTE IS GOOD FOR 30 DAYS. IN ORDER TO RECEIVE QUOTED PRICE PLEASE PRESENT A COPY OF QUOTE AT POINT OF SALE IN STORES OR REFERENCE QUOTE NUMBER ON PO OR REQUISITION

Your salesperson is Sandi White (512)-451-8298

Thank you,

Eduardo Gonzalez < EDGONZALEZ@hollywoodfl.org>

| Subtotal | \$64,271.00 |
|----------|-------------|
| Misc | \$0.00 |
| Tax | \$0.00 |
| Freight | \$0.00 |
| Total | \$64,271.00 |

Lou's Police Distributors, Inc.

7815 West 4th Ave Hialeah, FL 33014 Phone (305) 416-0000 Fax (305) 824-9205



Quotation

DATE July 3, 2024 **Quotation #** 7224ms **Customer ID**

| Quotation valid until: | August 2, 2024 |
|------------------------|----------------|
| D | |

Prepared by: MARLENE SILVA

Bill To: HOLLYWOOD POLICE DEPT. ATTN: Eddy Gonzalez

Comments or special instructions: SHIPPING COST NOT INCLUDED UNLESS OTHERWISE STATED.

| Item Number | Description | QTY | Price per Unit | Extension | | |
|---------------|---|-----|-------------------|--------------|--|--|
| 26042 | NYLON DUTY BELT 2.25 SIZES:S-XL 100 OF EACH size | 400 | \$ 39.55 | \$ 15,820.00 | | |
| 15635 | NYLON DUTY PACK OF 4 KEEPERS 2.25 | 100 | \$ 12.75 | \$ 1,275.00 | | |
| 18473 | NYLON DUTY DOUBLE MAG FOR GLOCK 21 | 100 | \$ 27.60 | \$ 2,760.00 | | |
| 44B7 | NYLON INNER BELT SIZES: M-XL 100 OF EACH size | 300 | \$ 15.25 | \$ 4,575.00 | | |
| 4710 | 700C CHAIN LINK SILVER HANDCUFFS | 100 | \$ 30.50 | \$ 3,050.00 | | |
| 24016 | NYLON 21" BATON HOLDER | 100 | \$ 17.60 | \$ 1,760.00 | | |
| 1370124 | DET 21 FOAM GRIP STD TIP BATON | 100 | \$ 95.75 | \$ 9,575.00 | | |
| 18205 | NYLON SMALL MACE POUCH | 100 | \$ 19.90 | \$ 1,990.00 | | |
| 7360-8325-411 | 7360 DUTY HOLSTER FOR GEN 1-5 GLOCK 17 W/TLR-1 | 100 | \$ 126.05 | \$ 12,605.00 | | |
| 23013 | NYLON DUTY HANDCUFF CASE W/SNAP | 100 | \$ 23.25 | \$ 2,325.00 | | |
| | ****** PLEASE NOTE:**** | 1 | | \$ - | | |
| | ****PRICING FOR SAFARILAND PRODUCTS REFLECT | | | \$ - | | |
| | DROP SHIP TO DEPT. ONLY*** | | | \$ - | | |
| | | | | \$ - | | |
| | ****BLACKHAWK INNER BELTS & PEERLESS CUFFS SHIPPING | | | \$ - | | |
| | NOT INCLUDED**** | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | | \$ - | | |
| | | | TOTAL | \$ 55,735.00 | | |

TOTAL | \$ 55,735.00

Cost Matrix for Police Equipment

| | Quantity | Ga | lls Price | | GT Distributors | | Price | | Lou's | | Price | | |
|-------------------------|----------|----|------------------|----|------------------------|----|--------|----|-----------|----|--------|----|-----------|
| Duty Belt - S | 100 | \$ | 12.25 | \$ | 1,225.00 | \$ | 52.50 | \$ | 5,250.00 | \$ | 39.55 | \$ | 3,955.00 |
| Inner Trouser Belt - M | 100 | \$ | 11.25 | \$ | 1,125.00 | \$ | 10.63 | N | 'A | \$ | 15.25 | \$ | 1,525.00 |
| Belt Keepers | 100 | \$ | 14.00 | \$ | 1,400.00 | \$ | 15.56 | \$ | 1,556.00 | \$ | 12.75 | \$ | 1,275.00 |
| Double Mag | 100 | \$ | 38.27 | \$ | 3,827.00 | \$ | 33.56 | \$ | 3,356.00 | \$ | 27.60 | \$ | 2,760.00 |
| Handcuff Case | 100 | \$ | 27.50 | \$ | 2,750.00 | \$ | 27.94 | \$ | 2,794.00 | \$ | 23.25 | \$ | 2,325.00 |
| Hand Cuffs | 100 | \$ | 32.59 | \$ | 3,259.00 | \$ | 26.50 | \$ | 2,650.00 | \$ | 30.50 | \$ | 3,050.00 |
| Baton Holder | 100 | \$ | 19.75 | \$ | 1,975.00 | \$ | 20.81 | \$ | 2,081.00 | \$ | 17.60 | \$ | 1,760.00 |
| Mace Case | 100 | \$ | 21.75 | \$ | 2,175.00 | \$ | 23.44 | \$ | 2,344.00 | \$ | 19.90 | \$ | 1,990.00 |
| Baton | 100 | \$ | 63.25 | \$ | 6,325.00 | \$ | 118.89 | \$ | 11,889.00 | \$ | 95.75 | \$ | 9,575.00 |
| Duty Holster | 100 | \$ | 137.00 | \$ | 13,700.00 | \$ | 144.75 | \$ | 14,475.00 | \$ | 126.05 | \$ | 12,605.00 |
| Duty Belt -M | 100 | \$ | 12.25 | \$ | 1,225.00 | \$ | 52.50 | \$ | 5,250.00 | \$ | 39.55 | \$ | 3,955.00 |
| Duty Belt -L | 100 | \$ | 12.25 | \$ | 1,225.00 | \$ | 52.50 | \$ | 5,250.00 | \$ | 39.55 | \$ | 3,955.00 |
| Duty Belt - XL | 100 | \$ | 12.25 | \$ | 1,225.00 | \$ | 52.50 | \$ | 5,250.00 | \$ | 39.55 | \$ | 3,955.00 |
| Inner Trouser Belt - L | 100 | \$ | 11.25 | \$ | 1,125.00 | \$ | 10.63 | \$ | 1,063.00 | \$ | 15.25 | \$ | 1,525.00 |
| Inner Trouser Belt - XL | 100 | \$ | 11.25 | \$ | 1,125.00 | \$ | 10.63 | \$ | 1,063.00 | \$ | 15.25 | \$ | 1,525.00 |
| Total | | | | \$ | 43,686.00 | | | \$ | 64,271.00 | | | \$ | 55,735.00 |